
CS 351 Computer Architecture                                                      Fall 2009
Home Work # 5        

       Due:  November 18,  2009
1) Exercise 3.14.4, 3.14. 5, page 296 and 297.
2) In Chapter 2, a recursive program for computing n! was presented and we noted that the largest N for which N! could be computed without overflow using 32-bit integer operations was N = 12. Rewrite the program to compute N! by performing floating-point arithmetic and show the output produced by your program for N = 100. Compute the relative error in the output.  One way to compute the relative error is to use the web site http://gmplib.org/#TRY where you can type any expression involving integers can be typed in the text box. But the result will be truncated to the nearest integer so you have to do some pre- and post-processing to get the correct result.
3) Exercise 4.1.1 to 4.1.4
4) Exercise 4.9.1 to 4.9.5































































